

# LED Lighting Solutions - Botswana only LED Lighting Solutions

We offer a range of LED lighting solutions and flood lights specifically tailored to our customers projects requirements. Our products are manufactured by our manufacturing partner to high standards and compliant with international standards.

For specific requirements, please get in touch with us via our online contact form, email or telephone.



## LED Street Lights – HIGH & MEDIUM SPEC

S533 & S536

LEDXION S466 - HIGH SPEC



Power: 90W to 210W



Power: 200W/250W/300W/350W

#### ARGENTO S439-MP - MEDIUM SPEC



Power: 30W/40W/60W

### LED Street Lights – ECO SPEC

#### **VELO STREET LANTERN**







VELO 30W

VELO 60W

VELO 100W & 120W

#### **MADON SERIES**



MADON P5 50W





MADON P10 100W



MADON P15 150W



MADON P20 200W

#### **MURA SERIES**







MURA S MURA M MURA L

## LED Floodlights – HIGH SPEC

## LIGHTING SOLUTIONS FOR FACADE & ARCHITECTURE

#### **CERVELLI S3**



WATTAGE	NO. OF LEDS	TYPICAL LUMINOUS FLUX	TYPICAL WATTAGE	SYSTEM EFFICIENCY Jpg /W
100W	48	14700	98	150
150W	64	21600	149	145
200W	80	28330	196	145

#### **CERVELLI S5**



WATTAGE	NO. OF LEDS	TYPICAL LUMINOUS FLUX	TYPICAL WATTAGE	SYSTEM EFFICIENY Im /W
250W	96	38970	252	155
300W	120	45050	297	151
350W	144	51300	350	146

## LED Floodlights - MEDIUM SPEC





ARGENTO K10128 90W

**ARGENTO K10129 180W** 

